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Directions for the following 3 (three) items :
Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

We often hear about conflicts among
different States in India over river waters. Of the
20 major systems, 14 are already
water-stressed; 75% of the population lives in
water-stressed regions, a third of whom live in

river

water-scarce areas. Climate change, the demands
of rising population and the need for agriculture
to keep pace, and increased rate of urbanization
and industrialization will exacerbate water
stress. According to the Constitution of India,
water is a State subject and not that of the
Union, except for regulation of inter-State rivers.
Key to ensuring balance between competing
demands of various stakeholders is a basin-based
approach to allocate water amongst constituent
regions and States. Allocating fair share of water
to them requires assessments based on objective
criteria, such as specificities of the river &Qin,

Passage - 2

More than half of Indian women and almost
a quarter of Indian men of working age suffer
from anaemia. According to studies, they are
anywhere from 5 — 15% less productive than they
could be, as a result thereof. India also has the
largest tuberculosis burden in the world, costing
170 million workdays to the country annually.
But what is just as important as lost productivity
now is lost potential in the future«It is becoming
increasingly clear that on many measures of
cognitive ability, malnourished Indian children
perform two or three'times worse than their
adequately nourished peers. For an economy that
will be more ‘dependent on highly skilled
workers, this\poses a significant challenge. And it
is one¢thatwreally should be addressed given

India’s'demographic outlook.

size of dependent population, existing use
and demand, efficiency of use, proj future |2./ Which one of the following statements best
use, etc. while ensuring the envirog tal needs reflects what is implied by the passage ?
of the river and aquifers. Q\
1.  Which one of the foll g statements best (a) Education system must be strengthened
reflects the most rational, A practiecal and in rural areas.
immediate action required te ensure fair and
equitable allocation of water” to different () Large Rram s ellitive
stakeholders ? L ‘ ;
: y : implementation of skill development
(a) A national, pragmatic, legal and policy :
framework for water allocation should programme is the need of the hour.
be made.
(b) All river systems of the country should (c)  For eponomic developuiEmyiENm——"—
be linked and huge aquifers created. nutrition of only skilled workers needs
(¢) Water channels between regions of special attention.
water surplus and regions of water
deficit should be created. (d) For rapid economic growth as envisaged
(d) To mitigate water crisis, water demand by us, attention should be paid to health
of sectors such as agriculture and and nutrition of the people.
industry should be reduced.
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Passage - 3 4. Raj has ten pairs of red, nine pairs of white
In India, a majority of farmers are and eight pairs of black shoes in a box. If he
marginal and small, less educated and randomly picks shoes one by one (without
possess low adaptive capabilities to climate replacement) from the box to get a red pair of
change, perhaps because of credit and other shoes to wear, what is the maximum number
constraints. So, one cannot expect of attempts he has to make ?
autonomous adaptation to climate change. @ 27
Even if it was possible, it would not be
sufficient to offset losses from climate (b) " 36
change. To deal with this, adaptation to (c) 44
climate change is paramount, alongside a (d) 45
fast mitigation response. Another solution is
to have a planned or policy-driven 5. In how many ways can a‘batsman score
adaptation, which would require the exactly 25 runs by scoring single runs, fours
government to come wup with policy and sixes only, irrespective of the sequence of
recommendations. Perception is a necessary scoring shots ?
pre-requisite for adaptation. Whether &) 18
farmers are adapting agricultural practices ® 19
to climate change depends on whether they
perceive it or not. However, this is not always (€) 4,20
enough for adaptation. It is important how a )\ 21
farmer perceives the risks associated w@
climate change. s\\ 6... "There are four letters and four envelopes and
® exactly one letter is to be put in exactly one

Which one of the following s@ments best envelope with the correct address. If the

reflects the most logical an anal message letters are randomly inserted into the

conveyed by the author e passage ? envelopes, then consider the following

(a) Adaptation to climate®, change and statements :
mitigation response)are basically the 1. It is possible that exactly one letter goes
responsibilities of the.government. into an incorrect envelope.

(b)  Climate change catses a change in 2.  There are only six ways in which only
government policies regarding land use two letters can go into the correct
patterns in the country. envelopes.

(¢0 Risk perceptions of farmers are Which of the statements given above is/are
important for motivating them for it
taking adaptation decisions.

(a) 1lonly

(d) Since mitigation is. not possible,
governments should come up with (b)  Zonly
policies for quick respomnse to climate (c) Both1and2
change. (d) Neither 1 nor2
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T Wikat is the fembinider when Directions for the following 3 (three) items :

85 x 87 x 89 x 91 x 95 x 96 is divided by 100 ? Read the following three passages and answer the
items that follow the passages. Your answers to these

@ 0 items should be based on the passages only.

®). 1 Passage - 1

(e) 2

@y 4 The emissions humans put into the

atmosphere now will affect the climate in the
8. What is the unit digit in the expansion of middle of the century and onwards. Technological
(57242)9<7x6x3x1 9 change, meanwhile, could make a future

ey 2 transition away from fossil fuels cheap or it

(b) 4
(0 6
(d 8

might not, leaving the world with a terrible
choice between sharply reducing emissions at
huge cost or suffering through the effects of
unabated warming. Businesses that do not hedge
9. If ABC and DEF are both 3-digit numbers against the threat of uncertain outcomes fail. The

such that A, B, C, D, E and F are world' cannot afford such recklessness on climate

distinct  non-zero  digits such  that change.

ABC + DEF = 1111, then what is the¢alue of

A+B+C+D+E+F 2 s\\Q 11.“Which one of the following statements best
e &Q’ reflects the crucial message conveyed by the
\Q(b' author of the passage ?
(b 29 N , Ry
e @ (a) Businesses that cause emissions may
need to close down or pay for pollution in
d 31 RitiRe
10. D is a 3-digit numbersich that the ratio of the (b) The only solution is technological
number to the sum of its digits is least. What development related to the issues of
is the difference between the digit at the climate change.
hundred’s place and the digit at the unit’s (¢) Waiting to deal with carbon emissions
place of D ? until technology improves is not a wise
(@ 0 strategy.
(b) 7 (d) Since future technological change is
) 8 : uncertain, new industries should be
@ 9 based on renewable energy sources.
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Passage - 2

Environmental problems cause health
problems. Substantial changes in lifestyle can
reduce environmental or health problems, but
this idea appears almost impossible to adopt.
With environmental problems, individual efforts
can be perceived as having a negligible effect and
therefore lead to inertia. With health, on the
other hand, individual choices can make the
difference between life and death, literally. And
yet, barring a few, there seems to be the same

collective lethargy towards making their choices.

12. Which one of the following statements best

implies the most rational assumptio t can
S
§2§
%
(a) We are likely to spe&@more money on

cure than preven@

(b) It is the job of the government to solve

be made from the passage ?

our environmental.and public health

problems.

(¢c) Health can be protected even if
environmental  problems  go on

unattended.

(d) Loss of traditional lifestyle and the
influence of western vélues led to some

unhealthy ways of living.

XDTG-S-DNK (9-

Passage - 3

Many people are not eating the right food.
For some, it is simply a decision to stick with food
they enjoy but which is not too healthy. This is
leading to an increase in non-communicable
diseases. This in turn leads to major burden on
our health-care systems that have the potential
to derail the economic progress which is essential
for the poor to improve their lives. For others, it
is about limited access to nutritious food or a lack
of affordability, leading to.monotonous diets that
do not provide the daily nutrients for them to
develop fully. Part of the reason nutrition is
under threat worldwide is that our food systems
are not,properly responding to nutritional needs.
Somewhere along that long road from farm to

fork, there are serious detours taking place.

13. Which one of the following statements best

reflects the crux of the passage ?

(a) The scheme of Universal Basic Income
should be implemented worldwide as a

way of poverty alleviation.

(b) We must place food-based nutrition at

the centre of our policy debate.

(¢) Nutritional status of food should be
improved by creating appropriate
genetically modified crops.

(d) Using modern food processing

technologies, we must fortify food items

with required nutrient elements.

A)
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15.

16.
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14. Three of the five positive integers p, q, r, s, t|17. For any choices of values of X, Y and Z, the
are even and two of them are odd (not 6-digit number of the form XYZXYZ is
necessarily in order). Consider the following : divisible by :

1. p+q+r-s-—t isdefinitely even. (a) 7and 11 only
3 : (b) 11 and 13 only

2. 2p+q+2r—2s+t is definitely odd.

(¢) 7and 13 only

: s 0
Which of the above statements is/are correct ? @Y -7 11 and 1
(a) 1lonly
18. 125 identical cubes are arranged in the form of

. Zmmly a cubical block. How many cubes are
() Bothland2 surrounded by other cubes from each side ?
(d) Neither 1 nor 2 (@) 27

(b) 25

15. Consider the following in respect of prime ) 21

number p and composite number c. (d 18
ptc 5
L P can be even. 19. How many distinct 8-digit numbers can be
formed by rearranging the digits of the
2. 2p +ccan be odd. number 11223344 such that odd digits occupy
3.  pccan be odd. odd “positions and even digits occupy even
3 : positions ?
Which of the statements given aQ are by 12
correct ? S\\ ®) 18
(a) 1and2only Q(§) () 36
(b) 2 and 3 only $'Q\ d 72
(¢) 1and3onl @
y 20. A, B, C working independently can do a piece
(d 1,2and3 of work in 8, 16 and 12 days respectively. A
alone works on Monday, B alone works on

16. A 3-digit number ABEC; on multiplication with Tuesday, C alone works on Wednesday; A

D gives 37DD where A, B, C and D are alone, again works on Thursday and so on.
ider the following stat ts:
different non-zero digits. What is the value of Considestipimimnmeiaioments
Ao 1. The work will be finished on Thursday.
PRt 2. The work will be finished in 10 days.
b 16 Which of the above statements is/are correct ?
(a) 1lonly
B (b) 2 only
(d) Cannot be determined due to (¢0 Both1and?2
insufficient data (d) Neither 1 nor 2
XDTG-S-DNK (11-A)
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frerforfere 3 (i) Svior 3 forg g :
freafeifen @7 aResd @ arRy ik TRedg & A9

7 FI7 T F I AT | 57

e & fore

37T9% I Facl 37 IR=el T &1 menia &7 T1lzw /

21.

XDTG-S-DNK

ufesg - 1

&l # wgwur i wmen ¥ fue % fo
Hfq-Fmiar a7 dea & % aet & fow am-fawm
&I AT (3Ms3a9 him) & rrRft wm,
o, Heefai, fmion SR = 5T w4,
IR FS THR & qEAT T Ifdewg T FH HIR
eH I g hl B & | 36 W ol g gg A&
21 15 o9 ¥ 31 [WA ared F ATEAl B TH
eI & 3 3% Wghi & eI 3§ ol TH B Fh

CNG 51 &I 37Em S9a 99 e PM 25
3R FH CO, 399 H & | 39 faada, s
FoH1 ! g1 H e 3R CNG 391 qHT A4
NO, JEfid #d & | TRt 3 ot oNG soHi
ﬁwﬁa‘a’rl%No % ufHmor A AT T R
a‘ramaﬁaﬁgwﬁﬁm (fherm =)
safte wguo e & it &
T Sfoey o efa |
mﬁ%%u@%aﬁi%@%
foveea g=m1 FRat smar
sﬁ%ﬁﬁrﬁﬁﬁﬁsﬁm
¥ %W P |
ﬁmﬁ%azmﬁﬁﬁaﬁqm@,ww%@a
TR = |aitueh FRhge, IR qehama fHfgard
! garaw &9 § gfafeifed w2 2

(a) TG FH FH b fOC ARHAI W OFHN
R =1 i s givea R |
TA-FE g b i 18 wfafeamet
TGN h W B A&l & Wehdl, Sfch
Q1EF-THG YT 31fersh JuTasmedt g0 |
gt g % for M wem
el W A SEiAT S S = |
TGN Sl FHEATSAT T HHAT HH h BT
% e § ywed i yafa wmm fol
SElcOR IR

(b)

()

(d)

ufese - 2

gere T e (FiEie TeE) JEE
HUE B TG 3R FrREw Iuee w5
o wieafea #ft & | Th smEmE @R, 6
frm wmem w7 @ e § onlie i Terifas
TS Al 3 ITE §I B, AU oft arert A
wfa "afg & | wwrht frm wem, wfossHl %
T fomamm # o ugE w wemar B, fEs
TRUTEEEY sTETRa Sk A, 3= dafg
3R T B 2 ()| Feves W s fdfie w5
YT Hd 8 &L Ghed & WHH, THF ¥ 3
gl faefl fifén, ot oft feqenfat & ofa
TY, SFE fohT STd % |

22. frfifad wurt § & HF-a1 T, IAE Tiedg

g0 = IRAg SHNH I HaaW ®9 A
yfafefea a2 2

37=8 aTel fomio qe Tge ghfvea s
forea v & il 1 HEwo USiST @ |
gare frm wem wfassHi S o
I ST # |

yfassH sr=at frm weH s W |

(a)

(b)

(e

d) Ygu® fm wmee weeg 9id JE@e B e

@R |

(12-A)
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Directions for the following 3 (three) items : Passage - 2

Read the following three passages and answer the
items that follow the passages. Your answers to these

4 Good corporate governance structures
items should be based on the passages only.

Passage -1

To tackle the problem of pollution in cities,
policy makers think that drastic actions like
temporary use of odd-even number scheme for
vehicles, closing schools, factories, construction
activities, and banning the use of certain type of
vehicles are a way forward. Even then the air is
not clean. Vehicles more than 15 years old
comprise one percent of the total; and taking
them off the road will not make any difference.
Banning certain fuels and car types arbitrarily is
not proper. Diesel engines produce more PM 2-5
and less CO,4 than petrol or CNG engines. On the
other hand, both diesel and CNG engines
produce more NO, than petrol engines. No one
has measured the amount of NO, that CNG
engines are emitting. Arbitrary bans on vehicles
that have passed mandated fitness tests and
periodic pollution tests are unfair. is
needed is the scientific and reliable&%rmation
about the source of pollutants o continuing
biikia stk the. bsshinolbigion t‘l@(b'will wabic N
reduce pollution from them. @

21. Which one of the fo%gwing statements best

reflects the most logical and rational

implication conveyed by the passage ?

(a) Arbitrary curbs_on, vehicles to reduce
pollution are difficult to implement.

(b) Knee-jerk reactions cannot solve the
problem  of pollution but an
evidence-based approach will be more
effective.

(¢) A heavy penalty should be enforced on
those driving without periodic pollution

encourage companies to provide accountability
and control. A fundamental reason why
corporate governance has moved onto the
economic and political agenda worldwide has
been the rapid growth in international capital
markets. Effective corporate governance
enhances access to external financing by
firms, leading to greater investment, higher
growth and employment: Investors look to
place their funds where ‘the standards of
disclosure, of timely “and accurate financial
reporting, and /ofequal treatment to all

stakeholders are met.

22. . Which of the following statements best reflects

the logical inference from the passage given

above ?

(a) It is an important agenda of the
countries around the world to ensure

access to good external financing.

(b) Good corporate governance improves the

credibility of the firms.

(¢) International capital markets ensure

that the firms maintain good corporate

tests. governance.
(d) In the absence of laws to deal with the
problems of pollution, the (d) Good corporate governance paves the
administration tends to make arbitrary
decisions. way for robust supply chains.
XDTG-S-DNK (13-A)
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D ufess - 3

gl gt & amger ¥, F o A
gg-fad v fffa @ 2, ey S
% JAfqaedd H A Ha & N 3= qedl &

T ¥ I W TeE s §, ed
I WRIERT wgpstt o fafg Suetsy gar @ | wreft
UeY, %A AR fiF @d &, W AW FA-IH &
GNH 9ad §U WA % WY 3 SfiSll Sl JE R
H I § | el 1 e redl i gt % fog
N0 G HLaT B 3R e & e soH e
TE 6 HAT 8 | @1 IS & 0T F aidft § 1
@R I T TEF S §, I gal sl
AN YEET 7 |

f
2

23. frafafigs wodi § 4 *w w, W =g

24.

25.
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g ffim & g o walfus g &ik
;ﬁmmaﬁaﬁmwﬁuﬁrﬁﬁaw
4

(a) I8 AEvIH g 5 @l w1 fem-ay
Ty Sa-fafaear aren gfaega & & |
Teft Folifiren (F-=m) wonfa & ok 3
Stey-fafagar =t @ wgam # |

i 7 "gg Sa-fafaua e
& fomn 7€ s @& s |
gl # emar A
% T TSIl
o | N
IR 7090 10=8 _9%M o 30 = 5,
11917021 =138, 9 28.4 4 @ 15 H °H
R 2

(a) 6

b 8

(e) =13

@ 15

qH WL, x HE o9 PIie 2, 3@ THR %
7x + 96 fIMT 8 x A | x % fopae 7= gwa & 2
(@) 10

&) 11

(¢ 12

(d) 3Fqdd: 3FH

(b)
(c)

(d) ST

1 HFRLE

26.

217.

28.

29.

30.

(14-A)

qﬁp, q,raﬂ'{s@ﬁ?mﬁﬁm
mi%,?h(p+q)(r+s)ﬁﬂ3ﬂ'qmaﬂ1%?
(a) 230

(b) 225

(o 224

@ 221

9 I 99 R for@ X IS T N 478 9l 2 |
Ifg N =t 13§ fawfoa foram Stw, &t vt =
BT 2

(a)' 11

b 9

(o) STy

d 1

9-37%hi ' ferdfl T HT YIS IH 1 8 | W
T ! g6l @ @ 1o R Siran @ 1wl
GEIT & Tehl T INTHA 47 8 2

(a)y 64

(b) 80

(0 81

(d 100

10 ¥ 100 7% for@ S ot @t quilent & A
et aeft S7eRT T ATHS F41 8 2

(a) 855

(b) 856

(¢) 910

@ 911

ABCD %I a1t 8 | AB 3R CD Y% W THh
fog; 3t BC 3k DA vo% W @ fim foig o
|4 & | 31 9% forget & @ fordl im famgadt =1
o & o foraa i Brys &9 snasa & 2
(a) 16

(b) 18

(0 20

d 24
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Passage - 3
Elephants are landscape architects,
creating clearings in the forest, preventing

overgrowth of certain plant species and allowing
space for the regeneration of others, which in turn
provide sustenance to other herbivorous animals.
Elephants fruits
propagating the seeds when they defecate in other

eat plants, and seeds,

places as they travel. Elephant dung provides
nourishment to plants and animals and acts as a
breeding ground for insects. In times of drought,

they access water by digging holes which benefits
other wildlife.

23. Which one of the following statements best
reflects the most logical and rational inference

that can be drawn from the passage ?

(a)

The home range of elephants needs to be
a vast area of rich biodiversity.

(b)

Elephants are the keystone species and
they benefit the biodiversity.

(¢) Rich biodiversity cannot be maintained
in the forests without the pr
elephants. s\\Q

Elephants are capable generating
forests with spec{& s per/ ‘their

requirement. &Q

(d)

24, If79#9010=8, 9 ® 30 5
11 @ 17 & 21 = 13, what is the value of
2340157
(a) 6
(b) 8
e~ 18
(@ 15
25. Let x be a positive integer such that 7x + 96 is
divisible by x. How many values of x.are
possible ?
(a): - 10
(o7 EaEE 1
(e) A2
(d) Infinitely many
XDTG-S-DNK

ce of

26.

217.

28.

29.

30.

(15-A)

If p, q, r and s are distinct single digit positive
numbers, then what is the greatest value of
(Pp+qQr+s)?

(a) 230
(b) 225
() 224
(@), 221

A number N is formed by writing 9 for
99 times. What is the remainder if N is
divided by 13 ?

(@); .1l
th):. =9
{e). ¥
(d) ook

Each .digit of ‘a 9-digit number is 1. It is
multiplied by itself. What is the sum of the
digits of the resulting number ?

(a) . 64
) 80
Xe): - 81
(d 100

What is the sum of all digits which appear in
all the integers from 10 to 100 ?

(a) 855
(b) 856
() 910
(@ . 9%t

ABCD is a square. One point on each of AB
and CD; and two distinct points on each of BC
and DA are chosen. How many distinct
triangles can be drawn using any three points
as vertices out of these six points ?

(a); 16
)18
(c) ~20
(d 24
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Referfeam 5 (arer) svaren & forg (A3 : 32. Frfafga wod § & B-A w, 3@ v F
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RS i TReSe) # 7T A ”ﬁ‘vjﬁ'g# o et w9 3 SRR R 2
7 TG TN F I T | 59 TR & o ;
3T9% IR 9T 37 IR W & menhia 517 TR | (a) Exémaﬁméamawmqﬁm
|
. e () Fdw, T S R @ vl
WA H, T TR T EId W gLEh OB 1Y ot 4

AN B | Gl SiRepiv: SO 89 %
UH ® | THUMR SO 1 dH-EeTE ¥ e
9 wUEw R ufeed # wen W @, R
TR/ gt 3R figem ¥ fow s
HH AW TUAT 8 | I G9 H AR Al
SUYTh e Ul § ? ASY €Y ¥, Ig g@enn #
gt (it smafdme it o= & «fiw), Tgw,
TESRYT % UREI S WE-SE ¥ 9 @ uee
39YTH ST UTdl 8 | ARl FHol § sea i
HH-H Senfieh gatfies Suge 2, 98 39 ® fnk
2 T orufdre § @ R (orlq wes Safrfeofa
BT R) M SEH SO AH R R | WG F
FE AW it w1 Aafrfievim  Tew
50 gfowra & fhfaaum s e 2,

(wﬁﬁmﬁwﬁmmmm%%w§

fir wpar 2 |

mﬁmqﬂ@ﬁm§\%ﬂ%@@w
TE T @

1. v@xmﬁQ$1wm,wwm:ﬁ
YUFHU R GEEl % 9@ BT
1R |

HETEE Aifta 3R Qe i Sreifiehi
Tl H smen gt ® R ol 8w %
ITW FEH Y ¥ Jefd & Ghd & |

39 qaaroned § & - wd /8 2
(a) ad 1

(b) had 2

(¢ 13K 2gM

@ Td@1L,TE2

T W IURTE W geyEeR,
JUREA-FAT TIA  H  THAGT B
gifeaa e & gen #eH 2 |

IYd & A 3 Ul &
Safrefiwni ~ucs e @ St
&/ F9 8. 39cTeY U & U qaieq
TR

(c)

(d)

uftesg - 2

wEhqEr e S R f6 fas @
HHed T ¥ WEha gifta 3 wreeTet
? | ardfeswar 78 ? f6 I e @t sam
wrd # oft oft St T R o i & fafrafia
T8 2, fham ol Suvihl, g9H &9 ¥, T Faw
yita 3 6 FH-8 I 37k fou wed o= 4,
sfcsr it Icael w1 W@ qle ¥ sRETE
w1 8 S fop 3 =1 7f ugen wohd ¥ | SeEw
% fou, <fe yra 4 Ao a1 92 R W
T BT HieA 7, oa: foham . wal o we &
T w8, e ernfawrg () @
it Wit u1g & TRA & | T wEE PaEw,
3SR % U aqu %o ot ufwdl % gEni #
Ui AW F A B 2 | AR e sewre
33l 7ET | T, @ T8 NN b =Y A
W 9ME ST WhAT 2 | g &/, 3@ fha afi
e TS R 2, el W AT SIgEee A
fafemm i gan 7
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Directi the following 5 it :
ST for thy fOINg 5 (floc); Hems 32. Which one of the following statements best

Read the following three passages and answer the

items that follow the passages. Your answers to these reflects the crux of the passage ?

items should be based on the passages only. (a) Generation of energy from municipal

soli is in ive.
Passage - 1 lid waste is inexpensive

In India, the segregation of municipal waste ®) Blomet}.xanatlon ig $he most el ey &5
at source is rare. Recycling is mostly with the gelening suergy frum mnoiipg SO
informal sector. More than three-fourths of the
municipal budget goes into collection and (c)

transportation, which leaves very little for

waste.

Segregation of municipal solid waste is

the first step in ensuring the success of

processing/resource recovery and disposal.
Where does waste-to-energy fit into all this ?

Ideally it fits in the chain after segregation

waste-to-energy plants.

(d) The biodegradable component of India’s

(between wet waste and the rest), collection,

municipal solid waste is not adequate to

recycling, and before getting to the landfill. provide energy from waste
Which technology is most appropriate in efficiently/effectively.

converting waste to energy depends on what is

in the waste (that is biodegradable versus Passage - 2

non-biodegradable component) and its calorific
value. The biodegradable component of India’s
municipal solid waste is a little over 50 pexcent,
and biomethanation offers a major ss@on for

processing this. &
NG

31. Based on the above ge, the following

assumptions have bee%made 2

1. Collection, processing-and segregation of

municipal waste ‘should be with

government agencies.

2. Resource recovery and recycling require
technological inputs that can be best
handled by private sector enterprises.

Which of the assumptions given above is/are

correct ?
(a) 1lonly
(b) 2only

() Both1and?2
(d) Neither 1 nor 2

XDTG-S-DNK

There is a claim that organic farming is
inherently safer and healthier. The reality is
that because the organic farming industry is
still young and not well-regulated in India,
farmers and consumers, alike, are not only
confused about what products are best for them,
but sometimes use products in ways that could
harm them as well. For example, since organic
fertilizers are difficult to obtain on a large scale
in India, farmers often use farmyard manure,
which may contain toxic chemicals and heavy
metals. Certain plant sprays, such as Datura
flower and leaf spray, have an element called
atropine. If it is not applied in the right dose, it
can act on the nervous system of the consumer.
Unfortunately, how much and when to use it are

not well-researched or regulated issues.

(17-A)
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33.

34.
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39 uftede W emria, fefeRed gdumomd

TS S B

1. Jfew @dft safifea w1 & o ok
YIRS QT o g gl ? |

2. forami ot uwreet = waiaw-fEad
g & gR # it g f sew
21

39 qEURTS § F H-H TEt ¥/E 2
(a) a1

(b) A 2

(© 1 3R 23gHi

(@ Jd@1,T82

Frafafea suat § @ o ™, 39 ui=se &

mﬁamwﬁmﬁﬁg%@uﬁ%mﬁk

wmﬁ$@mﬁﬂﬁmw% Sferg et

2? Q\Q(b.

@ o, @ A e
TS & &9 H Yicdifaa 981 fhar S
=1y |

(b) RS Ih & fore ¥ gt faes
o 78 § |

(c) ¥d #H, fruml =+ 3TH I T B
gy s R * fau fewnfdwm @ik

uftede - 3

frod %o i % gNH ¥R § e 39N
% WEY W ¥4 § 95 T § | 391 IR0 78
g ® T sanamm S8 srw W @reer
qed & M F | Freliieh a9 § 31 9%
Qe 1 3ATE Ui T4 | 1fe 5 T g, fi
ft 399 AU I THET HT W Y A GHYH
TE g R | W9 T d, BN & w1 @AW
wrErE, faRiy = yam @wE, % A § iy
W @, os cfomeass of arefe
BEI/FAS, BeAl o T Fiowd & I T
A § FH TR, R 3@ whewm # @ @ik
qIvor geen weifea §3.8, h3Ee atfafh, e,
THUT HY qA1eA]-H gH, Fo@ 3R @
e <l o a7t 2, fes wro @
3R o geeat el woe fReemft & wwdl # |

35. I ANEsE b YR W, frefefeaa qeumomd
CLIERIR
1., "Faa fasm A& i SR HE % fag
3Ryt w1 gt @ fem & wew @l
T wH ok AUt HfY wemd
ﬁ?ﬁiuéﬁﬁﬁ§MWwamm
T
2. $B @ wEal | ol ¥ e @

1 GIET BT FHTSTH T B |

4. TEHE THY HY gl F fow fham
IS alhl A g (FfehEl) 3R TR
g R % fog § W At @
FHd T HA § N g@fw 3 wE
fafauar @ foem ®0 & fow ygm &

TEaT H T 2 | é?' #
39 § ¥ FH-HN H gegrond Ay § 2
@ Sfes @dft w1 T8 R U AN T FA (a) had 1,234
¥ for 7 B iRk, wifE o R ms| 0 O 232$3
’ (c) 3 4
ITEl % foe #Ig Afvas s € R | e
(18-A)
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33. Based on the above passage, the following
assumptions have been made : Food consumption patterns have changed
substantially in India over the past few decades.
1. Organic farming is inherently unsafe for | This has resulted in the disappearance of many
both farmers and consumers. nutritious foods such as millets. While food grain
production has increased over five times since
2. Farmers and consumers need to be independence, it has not sufficiently addressed
educated about eco-friendly food. the issue of malnutrition. For long, the
Which of the assumptions given above is/are agriculture sector focussed on increasing food
production particularly staples, which led to
correct ? : { o
lower production and consumption of indigenous
(a) 1only traditional crops/grains, fruits and other
vegetables, impacting food and nutrition security
(b) 2 only in the process. Further, intensive, monoculture
)~ Béth'1 and 2 agriculture practices can perpetuate the food and
nutrition security problem by degrading the
(d) Neither 1 nor 2 quality of land, water and food derived through
them.
35. Based on the above passage, the following
84. Which one of the following statements best assumptions have been made :
reflects the most logical, rational and practical 1».. To implement the Sustainable
iessage conveyed by e Hut @& the Development Goals and to achieve
Q\ zero-hunger goal, monoculture
passage ? & agriculture practices are inevitable even
if they do not address malnutrition.
(@) In India, organic fax@g should Yot ‘be 2. Dependence on a few crops has negative
promoted  as & substitute’ for consequences for human health and the
: ecosystem.
Poventivgl feimiia 3. Government policies regarding food
(b) There are no safe organic alternatives to plann.ing need to incorporate nutritional
security.
chemical fertilizers. 4.  For the present monoculture agriculture
practices, farmers receive subsidies in
(¢) In India, farmers need to be guided and various ways and government offers
helped to make their organic farming remunerative prices for grains and
therefore they do not tend to consider
sustainable. crop diversity.
. ; ; Which of the above assumptions are valid ?
(d) The aim of organic farming should not @) 19 sl Sonky
be to generate huge profits as there is (b) 2and 3 only
still no global market for its products. (c) 3and4only
d 1,2,3and4
XDTG-S-DNK (19-A)
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36. forelt fesa § 14 wreft 2, 20 fich 72, 26 &6

37.

38.
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8, 28 dieft e, 38 @t 1S 3R 54 TG W |

FrafaRea weAt w foam Aifsw -

1. i fess # @ wrgfoe® 0 @ i @t n W
39 YR fiepreft Smd foh 370 wu--0 wh
T &1 TH G0 99g 79w &, af n A
YT HEAT 1752 |

2. 3 fesat ¥ @ Agfoo® ¥ & #IE @t m e
39 YR Fepret od fF I ' @
FHY-FY TH g 7@ 8, df m H
A AT 167 8 |

39 HoEl H A HAEVA TE AR 2

(@) had 1

(b) HaA 2

(¢ 13K 2gMl

(@ JFar1,ad2

af¢ ‘ZERO’ ® ‘CHUR % &9 & for@n i 2,

al ‘PLAYER %! forg &9 & foran smam 2

(a) SOCAGT

(b) SODBGT

(¢ SODBHT

(d SODBHU
$

frafafigs weat w foem Hifg .

A A BE w2 |

C 3R D 99T 3F F% |

E 37 § god Siel 2 |

FIEADADAE |

FIgH AT ST ] |

aaﬁaﬁmau%wﬁs/aﬁsﬁﬁﬁafﬂam

% fou Swdeh fopam el <l SrTervTeRar & 2

(a) FadqH

(b) Had o= it

(¢) had IR hI

(@ @t giat i

S N

39. fr=afafgs w fomm hifse, o g ot

40.

(20-A)

e #

foreft ufem & 59q= A, B, C,D,E® |
E® BH ®1§a9 8 ?

A 3R B foanfeq qufa & |
Df g c# |

9
HYH-1 :
HYT2 :
EJA 8 DI |

AR CuE B

PY7-3 :

HIT4 :

3T T 3R FHeEl & aR # ffofaa # @

-1 TF FEI ® 2

(a), "Y1, HYA-2 3TN HYA-3 T I I &
% fore e §

(b) -1, HIA-3 AN HYF-4 YT HI I A
¥ forg vafea |

¢ T TR F A M I H WA H
fore warteq € |

(@ @t I/ FHH Y H IW ¢ F faw
vt 737§ |

3° g I gHT N 31 wEl | e R
(a) 17, 37,47,97
(b) 31,41, 53,67
(¢ 171,73,79, 83

(d 83,89,91,97
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86. A box contains 14 black balls, 20 blue balls, | gg,
26 green balls, 28 yellow balls, 38 red balls
and 54 white balls. Consider the following
statements :

1. The smallest number n such that any
n balls drawn from the box randomly
must contain one full group of at least
one colour is 175.

2. The smallest number m such that any
m balls drawn from the box randomly
must contain at least one ball of each
colour is 167.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2 only

(¢) Both1and2

(d) Neither 1 nor 2

37. If ‘ZERO’ is written as ‘CHUR’, then how is
‘PLAYER’ written ?

(a) SOCAGT Q&K\

(b) SODBGT S\\

(¢ SODBHT NS

d SODBHU Q\Q(6

>

38. Consider the following'statements :

1. Aisolder than B.

2. C and D are of the same age.

3. E is the youngest.

4.  Fisyounger than D.

5. F is older than A. 40.

How many statements given above are

required to determine the oldest
person/persons ?

(a) Only two

(b) Only three

(¢)  Only four

(d) Allfive

XDTG-S-DNK (21-A)

Consider the following including the Question

and the Statements :

There are 5 members A, B, C, D, E in a family.
Question : What is the relation of E to B ?
Statement-1: A and B are a married couple.
Statement-2 : D is the father of C.
Statement-3 : E is D’s son.

Statement-4 : A and C aré sisters.

Which one of the following is correct in respect

of the above Question‘and Statements ?

(a) Statemeént-1, Statement-2 and
Statement-3 are sufficient to answer the

Question.

(b)> Statement-1, Statement-3 and
Statement-4 are sufficient to answer the

Question.

(¢) All four statements together are

sufficient to answer the Question.

(d) All four statements are not sufficient to

answer the Question.

Choose the group which is different from the

others :

(@) 17,37,47,97
(b) 31,41, 53,67
(¢)0 171,73,79, 83

(d 83,89,91,97
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fReferfea 3 (1) Teron & fore Rdr :

ReferfEa @i ai=eq #1 93w 3t 9R=sed & 9
37 FI FHIEN F I AT | 57 FIIE & forw
3T9% I FIT 37 IR=se] T &1 reha &7 =iy |

ufese -1

AR 4 FHA-TaE — Sfiawkg F AR
HEA 3 & HIGH T hl VT Al T AT
forar | 38R wrn f6 ww T% arclt s ™
sk & UiUHEEEY FEd weARl %
FgHd dH wEd  IEy R e
FEATETY °fed gL | FEd hH GHA-ANCT F 3E
Radd 8 FiY, Ae-uren 3t e wifeufass,
qrifork 3R anffer &9 & ywifea & & | <ifp
% $9 Ted & fUae it ?, safoe geh ame
& ded, fad aud we H el et
A Bl & = IR Srafy F wgad Bl R
S\‘Q&
aﬁﬁwﬁﬁa%m%\@ﬁmw
TS TS & é}

1. YHSHA dI9F & HRY GHa-9E A o
8 3R arfirer o T e war R |

2. IHA B UEA AHY IR A« THY dh &l
ueft Tufte & o srest & R |

Iqgh qeuronE § ¥ HH-A Td R 2

(a) ad 1

(b) A 2

(© 13 2gHi

(@ Jar1,ad2

afesy - 2

LIS I Gt — Fah A9 R g
qear I ® 5o i feRaHt AT ST 3T T
2, 39 fovg for 18 wouor & &9 & o e @
— % T dfvae fawervor § sarn w2 f6 wga
Ay IHh U B A Fomml IR Ty §
TGNUT S | T A | el T 2 fob adum
T SIS IUANT ST h AfYaeh HEd THT 0-4
R, e qg 9d § R wa # famm T oga
AN HT 40 Tfavd IME TS BHA § AT B,
Sefeh 60 Wfawrd argHee § @l AT & | fova
Meft @ SAferh SEEAT B WU S HEA @ B
3 S 3= wEA IcuTed 91, o foTe wfverse Argeem
Ith IATHI o ITANTH WS TE B | IS B S
% fou fyeft Tege wifge @ & w9 €, ek
feftes ATegioi af, it 3R a1y § @ o ® |
3% SRUMEEY T15gH SfaaTse I 9gd s
IESA BIAr B, S Th Yea e 3l
IS SaggRlt A9 B, MW I THR @
RIS TgET Bran @, o sfiedt i afet =
gﬂw(q@fﬁm)@ﬂ?ﬁwwwmﬁa

|

42. Tmafafea wemt 4 @ ®F9 o, 39 dfese §

fifea waifos ahama, Ihege M fuias

G i Garan &9 A fdfafed s @ 2

(a) W 3dET 3R YR A1 & fow
ATELISH T 3Tk gar ITANT e R |

(b) WfveTse ATEIISH IaATehl HT I g T8l
fen 1 wean, Fifs @@ Afvas @™
T W ViRl I9TE IR |

(c) 3Iftreh AT | ATSEISH T TANT HE aTeAt
Al & fashedl 1 IMUFH T Ih @t
FHET =R |

(d) ufverse IS & ITFT Irefl W @l
FH H TR HE-ATHR  (TIHRED),
Fafd  (widsitew) ok R
wet 1 I =R |

(22-A)
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Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these

items should be based on the passages only.

Passage - 1

Scientists studied the vernal window —
transition period from winter to the growing
season. They found that warmer winters with
less snow resulted in a longer lag time between
spring events and a more protracted vernal
window. This change in the spring timetable has
ecological, social and economic consequences —
for agriculture, fisheries and tourism. As the ice
melts earlier, the birds don’t return, causing a
delay, or lengthening in springtime ecological

events.

&

41. With reference to the abov@issage, the

Passage - 2

A global analysis of nitrogen use efficiency —
a measure of the amount of nitrogen a plant takes
in to grow versus what is left behind as pollution —
says that using too much fertilizers will lead to
increased pollution of waterways and the air.
Currently, the global average for nitrogen use
efficiency is approximately 0-4, meaning 40 per
cent of the total nitrogen added to cropland goes
into the harvested crop while 60 per cent is lost to
the environment, says a study. More than half of
the world’s population is nourished by food grown
with fertilizers containing", synthetic nitrogen,
which is needed to produce high crop yields. Plants
take the nitrogen they need to grow, and the excess
is left in the ground, water and air. This results in
significant, emissions of nitrous oxide, a potent
greenhou$e and ozone depleting gas, and other
of

eutrophication

nitrogen pollution, including

of

contamination of river water.

forms

lakes and rivers and

42. Which one of the following statements best
following assumptions hav,% n made * reflects the most logical, rational and crucial
P . : message implied by the passage ?
b Skl warming 1@usmg PRI come (a) An enhanced efficiency of use of nitrogen
early and for longer durabigfiee is imperative for both food production
2. Early spring and longer; period of spring and environment.
is not good for bird pepulations. (b) Production of synthetic nitrogen
fertilizers cannot be stopped as it will
Which of the above assumptions is/are adversely affect global food security.
correct ? (¢)  Alternatives to crops that require excess
S of nitrogen should be identified and
cultivated.
(b) 2 only (d) Conventional agriculture using
synthetic fertilizers should be replaced
(¢) Both1and2 )
with agroforestry, agroecosystems and
(d) Neither 1 nor 2 organic farming.
XDTG-S-DNK (23-A)
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L

Ti=og - 3

wia-fawrs et # gnofig
SRl ik wawy Sy = @
QUi figal % &9 F 9 S R 1 ¥ Qe
fagia T % ToHifas 3 erfdes famedi w1
gIfad i & | o1t e, BHT Setarg giteds
Rrgt-amatsti o w= § I gH fagia gl *
e gdummfa 78 571 ue § | =, =l o
4 d gofenfya @ | qunfd, Soeg ufeds
% "ol H, |h Awfe i @iy &
TSR AT 8 | 37T - a§i
4 7 foriass wo7 @1 g foh Sioary aied @
3cfifeq =aferdi 1 omes 24 % fow damem,
renfiferat o fafem frg wer swim & @
A | FeErg % fav § =, gewE S e
FH 6 wad q6 it TE 2, fow e
SiaTy TR % ATEY AJFReH 5 o e
3R T o gam & fau afagfd, 1w
Mk =TIk Gron e § |

SR =k Haitesh Ifeed 3 Fwris
e ! HAH §9 § AR 7
B e et
ATy = TS Ty W /i
% Temi o foeam & w@0 g3 @ =Ry |
il FHEER, Bva § smwe &9 @
foafta 2 3 ST Qe gan 2 |
g8 & ° Soayg ufEdd & e
AN /STy SRonfE i mEEnsh W
Ruer w0 #1 © e g 9 R |
Sty itad, @yt rfirar #, srftrerax
foefra 9 % @ror g €, s@lw @

@ ﬁmﬁi@amﬁamg@?wm

(a)
(b)

(c)

(d)

W& 1 I 31T TU&THA AfH &I
=feT |
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44. E qAYA P, Adani¥es &9 & G Ro afies

45.

46.

TG AN A H 1T H Q & T 7 | AR
& @y P, diffe &9 & FARG S% aifies
THIG W X Y 19 F Q B Jar g, @
Ffefafga d a sRa g 2 2

(@) i R=S

Mb) R>S

(). " R<S

d R<S

T8 fohad o7 quier 2 SR@ 1186 =i fawRm
FT W IATHE, 31 31T 2 ?

(a)\. 6
(), 7
(L) L8

d 9

uH #IfST, pp, qq 3 rr, 2-371 i T §,
G|3Tp<q<l‘%|‘£"&pp+qq+rr=tt0,?i'§"f
tt0 I3 3-37hi i TE&A B, Fomem sifaw 31
I 8, @ Fefafga st w fomm Hifve

1. p 9va 9l hl d&T1 5 7 |

2. q% G99 AH HI T 6 7 |

39 HeE § A PH-AVA T B/ 2
Had 1

Fad 2

1 3R 2 @M1

ER I i )

(a)
(b)
()
(d)
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Passage - 3

Along with sustainable lifestyles, climate
justice is regarded as a significant principle in
environmental parlance. Both the principles have
bearings on political and economic choices of the
nation. So far, in our climate change summits or
compacts, both the principles have eluded
consensus among nations. Justice, in the judicial
sense, is well defined. However, in the context of
climate change, it has scientific as well as
socio-political connotations. The crucial question
in the next few years will be how resources,
technologies and regulations are used to support
the victims of climate change. Justice in climate
is not confined to actions relating to mitigation,
but includes the wider notion of support for
adaptation to climate change and compensation

for loss and damage.

44.

45.

A principal P becomes Q in 1 year when
compounded half-yearly with R% annual rate
of interest. If the same principal P becomes Q
in 1 year when compounded annually with 5%
annual rate of interest, then which one of the

following is correct ?

(@ R=S
(b) R>S
() R<S
(d R<S

How many natural numbers are there which
give a remainder of 31 when 1186 is divided
by these fiatural numbers ?

(@) (6
43. Which one of the following statements best (b), 7
reflects the most logical, rational a% cial c) 8
message conveyed by the passag ‘*\\
D @ 9
(a) Climate justice sho Q%e ingrained, in
detail in the rules 1 the new climate
compacts/agreements. 46. Let pp, qq and rr be 2-digit numbers where
4 p<q<r.prp+qq+rr=tt0,wherett0isa
(b) Environmental re§gurces are unevenly 3-digit number ending with zero, consider the
distributed and -exploited across the : ¢
following statements :
globe.
1. The number of possible values of p is 5.
() There is an impending issue of dealing 2. The number of possible values of q is 6.
with a huge number of climate change
AR F Which of the above statements is/are correct ?
victims/climate refugees.
(a) 1lonly
(d) Climate change in all its connotations is
: (b) 2only
mostly due to developed countries and
therefore their share of burden should (¢) Both1land2
e (d) Neither 1 nor 2
XDTG-S-DNK (25-A)
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47.

48.

49.

50.

XDTG-S-DNK

I 1,2, 3 3R 47, 39 31 ¥ T et 37+
fom drear, s+t 37 weft 4-371 hit TEeT @5,
St 2000 ¥ 7 &, TnThet =T R 2

(a) 7998
(b) 8028
(c) 8878
(d 9238

Th g4 % &9 § Fafd 12 age § 3
aferomed foam # 10 AT aEqatt F ==
T 1 8 2

(a) .8

(11

(e): 712

d) 66

g o MEr R, @ S+ 1004 e
EaCk: Rl 8

Referfaa 3 (@) geaisn & forg g

FHeferia 7 af=sel # gizw it vh=se & Hi9
3 et FHE & I G | 3 g & e
3193 I FIcT 37 TReae) | & e 57 TlRe |

afese - 1

F uft & weae fopl et (o,
g, e, =EE, onfe S st wghe) #
QTel 1 Hld SHT W 379 o Sfe U dergEr
SUNTH I G G 8 | T8 Y07 3R S
werEl H ) ay fate w0/ S afits s
qd WEH % FRU EH, Al S @ 6
RN H T @A AHEES B § | o, s
Hc hi e, Moga Mew qwmed § g &
Wﬁﬁmmm@?ﬁé,wqéﬁ%
FRU FOETE % AW H i § a9-snatia
G U\ U GL&T S YgH Hd 8; a9-3neia
QY HEH BEA 3 Jquel ¥ odg ot

(a) 9HGR : ;
2 . Q@ HETl AMTEH Hd § |
(© TF %g\\ 51. frifrfign e § & B o, 59 Thede &
@ R Q@ g g U U waffes gfeagaa it qdema

e 3R R e & 80 seadi gl ) ° o
1 See H ve o i 25 99ve, g@t e
Hl 39 AU N AR AA H 60 AHTE T
2R T I TR safEt wom §
2:00 I IIE I, 9 TH Y R & A9 § |
A IR o T WA ws qry |} a2

(@) 4:00 S IIE

(b) 4:10 S IAWE

(¢) 4:20 9 HAIWE

(d) 4:30 I IYF

(26 -

oW H waH w9 §  yfafefad s

22

(a) THU AR S & it wHeE %
it aret FfE % o g8 W @@
< 9T g&ii | wge & =Ry |

(b) WNA H AU WHFA HN g4 ¥ @@
e gifvea 78 & 31wt |

(¢) ¥WRd # el I weg F forw sow wyftrdt
31 frfipa &t 1 Hiy-arfeh vgft §
e &1 =R |

(d) worE FN F fafcs s o
qy-HY Haiay ft fowfaa fen oM
=1faT |

A)
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47. What is the sum of all 4-digit numbers less
than 2000 formed by the digits 1, 2, 3 and 4,
where none of the digits is repeated ?

(a) 7998
(b) 8028
(c) 8878
(d) 9238

48. What is the number of selections of
10 consecutive things out of 12 things in a
circle taken in the clockwise direction ?

(@ 3
(b) il
() 12
(d 66

49. If today is Sunday, then which day is it exactly

on 1019 th day ?
(a) Wednesday
(b) Thursday Q&Q
(¢) Friday @’S\\
(d) Saturday QO

P

50. There are three trai@signals. Each signal
changes colour from green to red and then
from red to green. The “first. signal takes
25 seconds, the second signal takes 39 seconds
and the third signal takes 60 seconds to
change the colour from green to red. The
durations for green and red colours are same.
At 2:00 p.m, they together turn green. At what
time will they change to green next,
simultaneously ?

(a) 4:00 p.m.
(b) 4:10 p.m.
(¢) 4:20 p.m.
(d) 4:30 p.m.
XDTG-S-DNK

Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

Sourcing food from non-agricultural lands
(uncultivated systems such as forests, wetlands,
pastures, etc) in addition to agricultural lands
enables a systemic approach to food consumption.
It allows rural and tribal communities to sustain
themselves for the whole year and steer clear of
natural disasters and_season-induced shortfalls
of agricultural food. Since the productivity of
trees is often more resilient to adverse weather
conditions than ‘annual crops, forest foods often
provide ‘a safety net during periods of food
shortages.caused by crop failure; forest foods also
make important contributions during seasonal

erop production gaps.

51. Which one of the following statements best

reflects the most logical and rational message
conveyed by the author of the passage ?

(a) Food yielding trees should replace other
trees in rural and tribal areas and

community owned lands.

(b) Food security cannot be ensured in India
with the present practice of conventional
agriculture.

(¢) Wastelands and degraded areas in India
should be converted into agroforestry
systems to help the poor.

(d) Agroecosystems should be developed in
addition to or along with conventional

agriculture.

(27-A)
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ufess - 2

siastfasl % I/gETET 3R TR %
SR U ATERAl AW AEER R, 3@ u® fR
Tyt 1 e Reamt &1 # s gar 2 |
sfotfas-fafar st g o aafme =
STERE T HH & Tafawor S o 29§, I
ﬁwﬁmﬁww%ﬂﬁﬁnmﬁ%ﬁw%a@
®A == T R | sfedfaw SaehE & B g
ST Sfy-Sfe Hv A W @ R | sy
fmior worit % =mil s sitwy. Rt Samei %
B 1 Heah! G § |

52. fr=fofieq womi & @ wlan ws, 3@ ufede
g fou M wEifes gfgea sk smeEhe
w2 ) e 5 s 2

N
(a) JUgH SRyETE w@%ﬁﬁam

TGS 2 | §@

(b) @ H SFTEhAl H  FQHE

(© 3Sfygyfe hamed & wor # @w
T P w1 w@ite T smyfie
faferean 2@we & srafifya @ |

@ ofwufmin HutE w® dfiew s sk
Wl ¥ AE gy g as § wonfig
feram s =R |

uf=8g - 3

I o H foemerht fren % aw @t
T Bid E, S faeefl R off = ey e
e et ¥ T e e ¥ | 98 9 A
¥ e we Hiwa R, s@ w® HE sy
IS F A FA F aE @ IAR el A
W HCET R | T i % ommE @ 7%
FHfeat anm o, sit i etae @y
TR o § § wh W R aw AR
FefeqaEa & WY hen e W T § orem
| wefie W R wve sftrm 6 g
s fomr, Seree e @1 wwe R § w5
Jafd 981 &1 Hehell |

53, Freferflad womi & & #lw o, 9 ohede &

wH I wataw ®9 § fifafiE s g 2

(@) forawfd s & fo, wma = adifs
e e d faw s f sravEear
21

(b) WA U fova-wfd 98 a9 g%ar wifE
B TH AFIEN WA @ I 2 @ R
3R 7 € 39 gaftfa s @ 2 |

© Al fiem yomeft § 3= frem % v
HIA TgH HH | AF & By Fm
=1 |

(@ foemert & s st % Arar-far feew §
3R TporerTyet e & et % iy sTrEs
EEE
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Passage - 2

While awareness on use/misuse and
abuse of antibiotics is common knowledge, as
is the impact of dosing poultry with
antibiotics, the environmental impact of
antibiotics-manufacturing companies not
treating their waste has scarcely been
discussed at any length or seriousness thus
far. Pollution from antibiotics factories is
fuelling the rise of drug-resistant infections.
The occurrence of drug-resistant bacteria

surrounding the pharma manufacturing

plants is well known.

Passage - 3

Benefits of good quality school education
accrue only when students complete and leave
school after having acquired the gateway skills.
Like one learns to walk before running, similarly
one picks up advanced skills only after picking
the basic foundational skills. The advent of the
knowledge economy poses new challenges, and
one of the severe consequences of having an
uneducated workforce will beour inability to
keep pace with the global economy. Without a
strong learning foundation at the primary level,
there can be no improvement in higher education

or skill development.

52. Which one of the following statements best [53.. Which one of the following statements best
reflects the most logical and practicaé@essage reflects the crux of the passage ?

conveyed by the passage ? S\\

(§) (a) To become a global power, India needs to

(a) It is necessary t&@ proper. effluent invest in universal quality education.
treatment pro in place.

(b) India is unable to become a global power

(b) It is  necessary\  to  promote because it is not focussing or promoting
environmental'awareness among people. knowledge economy.

(c) Spread of drug-resistant bacteria cannot (¢) Our education system should focus more
be done away with, as it is inherent in on imparting skills during higher
modern medical care. education.

(d) Pharma-manufacturing companies (d) Parents of many school children are
should be set up in remote rural areas, illiterate and are unaware of the
away from crowded towns and cities. benefits of quality education.

XDTG-S-DNK (29-A)
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54. 40 9= JAHR €9 F @3 § N I A w (AW

55.

56.
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T, s ShHTeh-1) & 9T U Soell & | 39
Tedl Wl geunad foum § o gediaid (9r9)
fohaT ST B | =T ShHT-1 39 e HI S
HHI-2 I ITH AT B, ST hHIh-2 38 F=
FHh-4 hH! T AT 8, Sl HHTH-4 3 =
SHTh-7 I I8 HLaT 7, 3 36 %0 § @ om
o fpar Smar 2 | W@ fpad afEddl (s=n
SHHTh-1 ! FACITR) & o1 I8 ool TR & &=
SHUTh-1% g1l | 2 2

(a) 14

(b) 15

(e)i 516

d 17

HIHH
Z,ZYYYXXXXWWWWW,.. A

% TET YT T 8 ?
(a).-=H

)1

(e). =

d M .&
Q

¥oT: HpugIEqH? Q)g\\

HYT-1: pxqEST R YT Y S

FY7-2: p2¥eT 8 q2@§Q\®
ST g 3 R ¥ frgfeiea o @
A1 TF TE 7 2

(a) 39 9 I IG5 eHL 49 forell w e
1 bl ITAAL =T ST Tehell B, foheg
T FHUAT HT ITHA AT L AGT e S
ekl |

39 ¥ I IW, gH1 7 F Forel oft w o
I 3ehel ITANT L T ST Hehell 2 |

39 U H IH, A1 HAA Bl TH Y
I T S wehar B, foheg gHI A @
foret T HY T el ITA T A fea
ST Gehall |

39 UH H IH, A1 HAA B TH Y
I ek off 9 fear s wepar |

(b)

(c)

(d)

57.

58.

(30-A)

W(p+q—r)a§T%(p—q+r)@,G{€T
p,qﬁ(r‘{lﬁ'eﬁ%?

FY7-1: (p—q) GTCHS 2 |

HY7-2 : (p—1) FIMHS 8 |

ITYh W9 W HeHl % SR § Fr=fafaa ¥ @
ST TF HE R 2

(a) 39 YA &1 W, qF1 | § forelt wh o
1 3Fohcl ITANT L T S Fewa B, g
TE HAT H AR I H T e S
Gehall |

39 U9 H1 IW, oH1 A A et oft ueh wem
T 3Tehel I9ANT K e 1 Ghat B |

39 Y W IW, ZEI B H1 TH 9y
ST R e = aahdt 2, fhg oM d @
foret U YT 1 bl ITANT T G fe
ST Fehl |

39 UIA, HI A, A1 HAA B TH Y
39T #H ot 7 e s e |

frdt o |, 75 safaaal 3 = &,

60 HFferal 3 HIH off 3 15 =¥l I =/

IO HE g1 &t | gu A4 ATt forelt safe 3

I @ Al | TH A I FE-A-HE Th U

vary forr |

o e fora safer safedr g 2

$Y7-1: 50 ATl 4 g4 fomm |

F97-2 : Nfans o ufeya BN a =l &t
TS $ad qU o A AfFEl
T <t Ut T oft |

39w WA 3R HeEl % WR ° f=fafes § @

SIH-H1 T HEl B ?

(a) 39 9 & IW, g A 9 foreft & o

1 Iehel ITAM T I Hehar B, fopmg

T HAT T IAh ITAN R T femr

bl |

39 WA I IH, gH 8 A foreft oft ©b e

&1 3Thel ITANT KL feam 1 har © |

39 U H IA, qHl HUYEl B TH G91Y

IR H e S gehar B, fobeg ST A @

forel U w1 3Tkl AN R AET e

ST Geha |

39 W I IW, I KA T Th A1Y

39N ek oft TE fem < ke |

AL

(b)

(c)

(d)

(b)

(c)

(d)
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54. 40 children are standing in a circle and one of | 57.
them (say child-1) has a ring. The ring is
passed clockwise. Child-1 passes on to child-2,
child-2 passes on to child-4, child-4 passes on
to child-7 and so on. After how many such
changes (including child-1) will the ring be in
the hands of child-1 again ?

(a) 14

b): 15

(¢ 16

@ 17

55. What is the middle term of the sequence

752, Y, Y, Y, X, X X X, We WaW oW, WA ?
(a H
{p) 1
58.

(|

d M

56. Question : Is p greater than q ? \§®
Statement-1: p x qis greater t @gero.
Statement-2 : p? is greater ]@- 2
Which one of the followi.n& correct in respect
of the above Question & the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement
alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered wusing either
Statement alone.

(d) The Question cannot be answered even
by using both the Statements together.

XDTG-S-DNK (31-A)

Question : Is (p + q —r) greater than
(p—q + 1), where p, q and r are
integers ?

Statement-1: (p —q) is positive.

Statement-2 : (p —r) is negative.

Which one of the following is correct in respect
of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement
alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be —answered using either
Statement alone! :

(d)

The Question cannot be answered even
by using both the Statements together.

In a party, 75 persons took tea, 60 persons
took coffee and 15 persons took both tea and
coffee; No one taking milk takes tea. Each
person takes at least one drink.

Question : How many persons attended the
party ?

Statement-1 :

Statement-2 :

50 persons took milk.

Number of persons who
attended the party is five times
the number of persons who took
milk only.

Which one of the following is correct in respect
of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement
alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered wusing either
Statement alone.

(d)

The Question cannot be answered even
by using both the Statements together.
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59. Torelt 3-37ahi it wh FEw W AR Hifvw |

60.

XDTG-S-DNK

Jo7: 98 A IR 2
FYF-1: I WA & I H INTHA IH *
TGS & S 2 |
FY7-2: 98 &A1, I GEAT & 37 & ITHA
g faars= 8 |
39 W9 3 HeEl % AR ° Frfafed § @
-1 T TE R 2
(a) 39 ¥ I W, gH1 7 ¥ forelt wep em 1
bl ST W e s wewan @, fheg @
HYT H b IWT B @ e S
TRl |
36 9% 61 IR, aF1 A F frelt oft ue e
T ohed ITANT KT T 1 Thell B |
() 38 Y H IW, qHI HYA H TH ™
I X fea s wehan R, feg 21 A @
forelt T Hua 1 Srehet I A
ST HehaT |

3 YW H IW, HI HAHE H TH Y
I e off T fear s @R |
Wﬁﬁ%ﬁ,%ﬂ@a<b<c<d<e
a1 7; foret ft < Sai a1y % e 2 ant
HT HW R | Q
¥ HeE B §= i Ay \%?
FY7-1: GIE §S g Hi B o Hi
8Ty @1

ST 61 T
FHY7-2 : =l

IR T i BeRDS aR F PR § &
-8 TH Tl B 2

(a) $9 T 1 I, Wl HE et T HoT 1
3Tl ISP L e o W R, fheg qw
HYT B Hohol, ITEN X A& AT S
ek |

38 I 1 IW, gE1 8 I forelt oft o e
1 Thet ITANT e 51 Hpat R |

(¢) 38 U¥H W I, THI U HI TH oY
ST R S g B, feeg i A @
forefl T U 1 el AT ] T o
ST Hehell |

$H YW H IW, I HYA H TH Gy
39 ek oft T fean s wema |

(b)

(d)

(b)

(d)

Referfém 4 (ar) gv19r 3 forg fdr :

Rt e wh=sql # afzw st wh=oe & 9
3 I I F IR P | g7 g & forg
319% I FAT §7 IRese) | & AT 517 TIRT |

aftess - 1

faen % Riwm # sfa B 6

FEA $ GRT HEIET T § | 14 varsd F
qEi® M NG (Jean Buridan) I T&@dH
Fool-ufH 3R ol fawedl ot sffaarst
FRU W HA A @A - aR # et | 3@
FEA F, TH T q@ .3 GOF ®U F e
<l & e @t } | ge et 30 B @, T
o %0 7 sremed & Y 9% @ & W R |
Wi 3t Fdyads, 3@ % @ w9 ok
hﬁz,ﬁmﬁﬁmwﬁﬁwﬁﬁa‘gﬂm
1 Had g & FA & | Taq PR i T
Ffshal & W rfaudm dun diwer i,
IcAfads ok fam & fow = ome & &
Bisdy @ faofem ik sifre #feT & smar 2
Sfie 1 ¥9 fasheqwd 8 | 3ms it % qE Sfe
* T fawedl i agaa 2, R 3 gg @
geft 3R feamred U § |

61. frfofaa wurt § § S-a1 v, I qiede
7 fafeq waffies qehemma a<w +1 gafon &9 @
yfefafea swar g 2

(a)

(b)

(c)

(d)

(32-A)

Iyfe  WRNfER Gmitve @ @
FAAR HA! 8 N Sfaw Y HfeT a1 2
21

Fyfs faq affeaarsti o oma
e fashedl @ WU 2 |

& gEl I TF ¥ gwifed B & oft gwd
A gg-fovamg &1 sgww w0 e
T B |

AR Sfie H, 3cdd %0 fased a1 wIhe
=l =i 7 @1, forg w5 aifirk fapey
BT oft 3o A ST & wwar 2
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59.

Consider a 3-digit number.
Question : What is the number ?

The sum of the digits of the
number is equal to the product
of the digits.

The number is divisible by the
sum of the digits of the number.

Statement-1 :

Statement-2 :

Which one of the following is correct in respect
of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement
alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered using either
Statement alone.

(d) The Question cannot be answered even
by using both the Statements together.

Directions for the following 4 (four) items :

Read the following four passages and answer the
items that follow the passages. Your answers to these

items should be based on the passages only.

Passage - 1

The paradox of choice is illustrated by the
story of Buridan’s ass. Jean Buridan, the 14th
century philosopher, wrote about free will and
the inability to choose due to numerous choices
and uncertainties. In the story, .a donkey stands
between two equally appealing stacks of hay.
Unable to decide which to eat, it starves to death.
Changes in technology and innovations such as
smart phones.and tablets only exacerbate our
glut of choices. Constant connectivity and

overconsumption of real-time data and social

media ean leave little room for self-reflection and

60. For five children with ages a <b <c<d < e
any two successive ages differ by 2 y rest,» making decisions more difficult. Life is
Question : What is the age of &sgsyoungest about choices. Many people are overwhelmed
ild ?
child ¢ QQ’ with attractive life choices, yet find themselves
Statement-1: The age of t est is ‘8 times ;
unhappy and anxious.
the youngest:
Statement-2 : The ave@e age of the children | g1, Which one of the following statements best
is 8 years. . ; s
- oY : reflects the most logical message implied by
Which one of the following is'eorrect in respect s 5
of the above Question and the Statements ? the shove passage ¢
(a) The Question can be answered by using (a) Modern technology enfeebles societal
one of the Statements alone, but cannot structure and makes life difficult.
be answered using the other Statement VA Lk
fons (b) Modern life is full of uncertainties and
(b) The Question can be answered by using ehdlShs ISR wda oo
either Statement alone. (¢) We are influenced by the opinion of
(¢) The Question can be answered by using others and have no courage to follow our
both the Statements together, but own convictions.
cannot be answered using either
Statomint-alone: (d) In our lives, having too few choices may
(d) The Question cannot be answered even not be a good thing, but having too many
by using both the Statements together. can be equally as difficult.
XDTG-S-DNK (33-A)

Pownload all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

aftess - 2 fess - 3

wRa # o foa aeie # 1w sl et e ¥, W FH AW H K
S ey 3 s SRR # R Bde e 3afY % fTT T YgH A 7 | 9o M
et T8 Ta-aar fHerdt ], 6 3 qanedt 6
ﬁ%lw%ﬁ?ﬁwﬁméﬁ%m Hima fuifa =i, St wwfer 6 sEfn T
e € | W dRalel Hw R | % fa gmaafa @), Reg @ g @ S
SETR, AEE & e # 98 e w_m | @ﬁ%?mlﬂaﬁwm%mwé%
TeeE F R S v §, 3§ gde A, | ¢ T a@ Ffan mn G 3w
iy fefta wenslt ¥ of dvm, gwoar § | 0 P 0P ot S % SN T qon
HEYW IR o™ (R&D) F WewH F
AR G F oo W WA F | s am s R w S o
IEET Farall R FAIGEISA § ¥ HH-H Twd Bt 3, S F W A gilenF f snEma
IRt 7, R IR awEs B, A I I W feres Fimg & &9 ¥ Bl 2 | JufU I8 9
ahd § o1 T, O (TR E ) B ww | I I I G, L T S R gl
3 HI FHHA T 9GSt Hud & AW 4@,
YT A TSl P Tavad 3 ITEUH T 378
AT, Al IfThd T HA b faU wE dy

foragTe, 3uerey Ud § |

62. W s=al & faxflaewr ¥ ey #, fefefa
e ; |63, SWF ufde *® omur W, f=fafed
FET § | BH-SH A, 39 sRese § Fifga gl ﬁwmﬂé’%

ﬁ"éi“"“‘}'“ﬁ”%"é“m%\Q ﬁ%zmgézmﬁaﬁﬁqmﬁézaggri
SR greft  gamd
1: ga‘rﬁﬁﬁamﬁ% Teh, il ; Wﬁﬁﬂﬁﬁ“%ﬁﬁ?@?m
mw@ 2
2. 3Nwtfiy IcuTel % fog o= awi W fAsfn,
2. qﬁar&%agu%aﬁgqgﬁﬁamm ﬁwwﬁ?«r% 3R e et & forw wilt Sw
|
o 3. oA W 8 cieaen AR s
5. forer SNy & Aavads s ¥ | F F A, SHEERT P G T8 H
: q FHHA W AN YA BT &
13 fow T g 1 T v g TR A
' iyl g v e
; ; L
@ 130 2 SRS % e I TIEH T |
(b) Had 23 3 39Yh QEUROS # § HH-H = dy § 2
(a) 13N 2
(¢) had 131 3 (b) 134
() 334
@ 1,23MW3 d 233
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Passage - 2

Household finance in India is unique.
We have a tendency to invest heavily in
physical assets such as gold and property.
Steps to encourage the financialization of
savings are critical. A populace accustomed
to traditional processes will not simply jump
into financialization. Hurdles to change
include onerous bureaucracy, a scepticism of
organized financial institutions, a lack of
basic information about which of the myriad
services and providers is best for each family,
and how (and even if) one can make the

transition between them if necessary.

Passage - 3

Pharmaceutical patents grant protection to
the patentee for the duration of the patent term.
The patentees enjoy the liberty to determine the
prices of medicines, which is time-limited to the
period of monopoly, but could be unaffordable to
the public. Such patent protection offered to the
patentees is believed to benefit the public over
the
research and development (R&D), although it

longer term through innovations and
comes at a cost, in the nature of/higher prices for
the patented medicine. The ‘patent regime and
price protection — through a legally validated
high price for the medicine during the currency of
the patent — provide the patentee with a
legitimate mechanism to get returns on the costs

incurred in innovation and research.

62. Regarding the financialization of household 63, . BAN ST el passage, S Toliowing
. ] : assumptions have been made :
savings, which of the following sta.@ments
g§§ 1. Patent protection given to patentees puts
best reflect the solutions that ar%‘ plied by 2 :
Q a huge burden on public’s purchasing
the passage ? Q(b§ power in accessing patented medicines.
1.. & fAexible enviro@ o oo to 2. Dependence on other countries for
, pharmaceutical products is a huge
develop solutions. . ;
burden for developing and poor countries.
2. Households need customised solutions. 3. Providing medicines to the public at
3. Innovations in firancial technology are affordiifle priden i a-key gf)al dfn'lng e
public health policy design in many
required. A
countries.
Select the correct answer using the code given 4. Governments need to find an appropriate
below : balance between the rights of patentees
e haa and the requirements of the patients.
. e Which of the above assumptions are valid ?
(b) 2 and 3 only (a) 1land?2
(¢) 1and3only (b) 1land4
(¢) 3and4
1,2 and 3
S (d 2and3
XDTG-S-DNK (35-A)
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afeag - 4 66. Tt cav = ot R 7 i T d & F& =

W B, TR % Fafes oo (3a1) g aft T S woSn dfew wfeE g
IR Tl wEd gu, fefea srderawan 1 wafy gfEfud & ® | fopas W@ fafte ofl @ @
%I glfeaa & =gy | F8 off, W@ e § foran S Tkt 2, 39 YR A HIE oft I Ew
et frmeft 2t 2, an U e ° st R st ufeai T TR TF 2
H it SehIET Tehe | &, Tavada 7@ ST |
30 @ g A 3 SAfedi & our g
=iley, @ ¥ giom €1d §; 3% & I, S 3
o, IHEm % g g, shefe @ e wer |0 O 2
=Ry | gafeu, a0 EREr S gRT T8 TR ()09
TAYad, St SEdd-hga ot femreeh @,

(a) 12
(b) 18

T B R 67. Tt AR w9 FI A9 @9 § 4m 3R
64, T e IR W, Frfe g 9IS H 22 m ®.1.140 cm x 60 cm 3T 6
ST TS § Al I 30 We oo R 6 ond wgm A
1 i @ g aE s T 2, afen T gh | e oft Tee w1 Rt ot fomma d
TR FfaET & foIe qev R | fo@mNST gt 8, &l d% 3hh fFIR B F
2. T o Taveda & i s smumm fPi & "W & | v W aifiekan et
El»?:ﬁ%l mﬁmm%,,
quﬁﬁmaﬁﬁéﬁqmém@%& e
(a) had 1 62, ® 7
(b) Had 2 Q\Q(6 oy
() 13 23M @ @ 9
@ 1,782

65. el wen &, wR S, T P, Q R sfes |08 P Q R S IR T 9 = £, Fd § 99
# ¥ % weA-0 % T siferam st 100 F | Afth b1 Th HE FIOT1 R | HE-1 7 @ PR, A
ferenfefalt gro wmw e o stk quifeRt & ¥ | Y & Q I Hiqr 1 Hehe1 & | HE-2 AT A R H,
oft foremeff n fafSm alet & 999 wTHIE &1 Tevat 1 S Wi & i I ] | HE fhar g @ @

Bl nHIAAFTR? ST Tehd & 2

(a) 16 Wk

(b) 17 ®b) 12

(0 23 (c) 18

(d 35 d 24
XDTG-S-DNK (36-A)
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Passage - 4

India should ensure the growth of the digital

economy while keeping personal data of citizens

secure and protected. No one will innovate in a

surveillance-oriented environment or in a place

where an individual’s personal information is

compromised. The ultimate control of data must

reside with the individuals who generate it; they

should be enabled to use, restrict or monetise it

as they wish. Therefore, data protection laws

should enable the right kind of innovation — one

that is user-centric and privacy protecting.

65.

XDTG-S-DNK

Based on the above passage, the following

assumptions have been made :

1. Protection of privacy is not just a right,
but it has value to the economy.

2. There is a fundamental link between

.&

Which of the above assumptions i%%egvalid 2
S

QO
N
$

privacy and innovation.

(a) 1lonly

(b) 2only

(¢ Bothland2
(d) Neither 1 nor 2

In an examination, thé" maximum marks for
each of the four papers namely P, Q, R and S
are 100. Marks scored by the students are in
integers. A student can score 99% in n
different ways. What is the value of n ?

(a) 16

(b): 17

() 23

(d 35

66.

67.

68.

(875K}

A flag has to be designed with 4 horizontal
stripes using some or all of the colours red,
green and yellow. What is the number of
different ways in which this can be done so

that no two adjacent stripes have the same

colour ?

(a) 12
(b) 18
© 24
(d) 36

A rectangular floor measures 4 m in length
and 2:2 m in‘breadth. Tiles of size 140 cm by
60 cm haye.to be laid such that the tiles do not
overlap. Atile can be placed in any orientation
so long as its edges are parallel to the edges of
the floor. What is the maximum number of

tiles that can be accommodated on the floor ?
(a) 6

(b) 7
©) 8
(@) 9

There are five persons P, Q, R, S and T each
one of whom has to be assigned one task.
Neither P nor Q can be assigned Task-1.
Task-2 must be assigned to either R or S. In

how many ways can the assignment be done ?

(a) 6

b)) 12
(c) 18
d 24
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69. TIH 2 gm, 5 gm, 10 gm, 25 gm, 50 gm MR fAwferfaa 3 (d7) wvamn & forg A3 -
A geg wew # 9 F fs § | Pt | AT A7 aR=De @ algT i ar=se & 9
il e A 3 et FEE % W G | 57 g % kg
N i S WWWWWWW?}WF}#W/
FH-H-59 7 faas @lie savas B | uftess - 1
2. sqﬁaaaﬁaﬂ:mhwmgmw_am Ra #, Jufy S @ srferEeen %
e T o e g g o )
@) | W T AT A w9 @ g
(b 399 2 o HRARI % SFFE T AT B, e It AR
(© 1 3R 23t S 1 T T Bt £ 3k ) s 3w
@ F@1LTH 2 I wEHE H1 MEmER FH % R wdhen wa
4 i dortan femm 2 | wreafis stuar 3w
70. fr=ferfad w famm Hif . foren_qret Gl % fou S H TR
L A+BFIHRATABARB A, 7| arfim g, it w53 qu e % & o 61
TR BF | G Bl 3R wgr | F |
II. A-BHRIAFRATSTITE 2 BY |
1L AxBW&?ﬁ%A@’t‘ﬁiﬁﬁ%@l W, W T W SEF W FEN WA D, W)
N.A+me%Aq®s§\a%B@r,q fafafes #odi & @ $9w s, waifs
TR B | \%Q,% i &9 4 gfafafad @ 2
= g;ﬁ““@@ K v Aahiied i el i FHe i 3 4 A
foren & Tqorarn %1 3@ R |
FI7: PxQ P-T, ™R/R+S s
Be#sfl. Q+T (b) %ﬁwrrﬁﬁgmw?ﬁa‘r‘ﬁﬁfﬁamﬁ
R m.§&maﬁmmﬁﬁw%
. . &9 H @1 JH1 AR |
39 He IR st & s A Fefafaa § @ ‘ : :
sl e (c) Taemer dem & sOsmR @l o TEREIRE
@ Fo & et o1 i A 2 | F % R o men s
(b) o & St oo P v & | g
(0 wuA ¥ frepd.1 ot fswd.2 24 Fmfir (d) fren woneht # whE w9 @ e
B E | o s =g anfes frfara <imit & fe
(d) H " T @ frswd-1, 9 & fred-2 fmfia IR G &l |
BT R |
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70.
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There are large number of silver coins

weighing 2 gm, 5 gm, 10 gm, 25 gm, 50 gm

each. Consider the following statements :

1. To buy 78 gm of coins one must buy at
least 7 coins.

2. To weigh 78 gm using these coins one can
use less than 7 coins.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

Consider the following :
I. A+B means A is neither smaller nor
equal to B.
II. A -B means A is not greater than B.
III. A x B means A is not smaller than B.
IV. A+ B means A is neither @ nor
equal to B. qr\
V. A + B means A is nelt@ smaller nor
greater than B.
PxQ, Pé@T Jon S
QT
S+Q

Which one of the followingis correct in respect

Statement :
Conclusion-1 :

Conclusion-2 :

of the above Statement and the Conclusions ?

(a) Only Conclusion-1 follows from the
Statement.

(b) Only Conclusion-2 follows from the
Statement.

(¢c) Both Conclusion-1 and  Conclusion-2
follow from the Statement.

(d) Neither Conclusion-1 nor Conclusion-2

follows from the Statement.

Directions for the following 3 (three) items :

Read the following three passages and answer the

items that follow the passages. Your answers to these

items should be based on the passages only.

Passage - 1

In India, while the unemployment rate is a

frequently used measure of poor performance of

the economy, under conditions of rising school

and college enrolment, it paints an inaccurate

picture. The reported unemployment rate is

dominated by the experience.of younger Indians

who face higher employment challenges and

exhibit greater willingness to wait for the right

job than their. older peers. The unemployment

challenge is greater for people with secondary or

higher «education, and rising education levels

inflate unemployment challenges.

71.

(39-A)

Which one of the following statements most
likely reflects as to what the author of the
passage intends to say ?

(a) Enrolment in schools and colleges is
high but there is no quality education.

(b) Unemployment must be seen as a

function of rising education and

aspirations of young Indians.

(¢) There are no labour-intensive industries
to accommodate the huge number of
unemployed people.

(d) The education system should be properly
designed so as to enable the educated
people to be self-employed.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

XDTG-S-DNK

ufese - 2

“fogm = o e 48 R, famml % W
ft v 5 3R Fem-sgaen g1 v 8 S
ot &1 =T W IR IR ™ 9= H AR
il | BE ot wewsE S 9k 8 Sern
1, 3R Ge A& & Tgt ar | fFwuifa
fren men & | fomm = SR stravEesan 2,
T § @R — At ugf @ favemm ofk

(b)

<feh TomHHT /AR TU F & 39T 8,
o 4 wh U fenomef w1 dm

I8 T+ & T aft Ssnfient =1 el
B ft s B/, afe I
Aeg-AYE & N 39 IHR quS % fog
TS a9 3TN A |

(d)

73

74.

75.

uftess - 3

“Usa w1 sifow wE A W I w@

2, 7 & I 30 W FREibE w ;) afew
2 fomdl & =af w1 @ 4 &), aif a8
T & 91d, N g B AT AW TS B
Tgd o, St woh @ & W Tk | § fiw
AgT@ §, TT H A gigaTa WoE
g uystt it wefidi & wew T A ? | T
AT B, b IR I 3R I 79 Bl GLATGEF
FE HH H gR A1 | Ig dET 8, <
ad f5a% & IgEr S, 3 38 sgaEn # wn
AR A TE qTh T SqUNIRE B gem, Y
3N saFwR § T 4 H, 7 & g b 9l
gds HE |7

. U ufeee) s R W, Freafefed wei § @

HIFEl Th, TSI & TH @8I ) garqq &9 §
S whidT 8 ?

(a) =TTt G

(b) THR 3R 77 1 TRy

(c) ETEIRIS TueHaT

(d) TEdEar

2192 Y 69 9T T W NGBS RT B 2
(a 0
(b) 1
{0) 122
d 4

CCEL

ABC_ _ ABC_DABBCD_ ABCD

R foem fifse, s 5 = fFfsa gfesa ==
STTET AT R |

fafafea & @ S8 T, @ FTHH B W@
AT 8 ?

(a) DACB

(b) CDAB

(0 DCCA

(d) DDCA

(40-A)
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72.

XDTG-S-DNK

Passage - 2

“Science by itself is not enough, there
must be a force and discipline outside the
sciences to coordinate them and point to a
goal. It is not possible to run a course aright
when the goal itself has not been rightly
placed. What science needs is philosophy —
the analysis of scientific method and the
coordination of scientific purposes and
results; without this, any science must be
superficial. Government suffers, precisely
like science, for lack of philosophy.
Philosophy bears to science the same
relationship which statesmanship bears to
politics movement guided by total
knowledge and perspective, as against
aimless and individual seeking. Just as the
pursuit of knowledge becomes scholasticism
when divorced from the actual needs of men
and life, so the pursuit of politics becomes a
destructive bedlam when divorced from
science and philosophy.”

Which one of the following statements best
reflects the most rational, logical and practical
message conveyed by the passage ? \Q

(a) be well

ethods/ and
enable.them to
ive of their rroles,

goals.

Modern statesmen nee
trained in scientific
philosophical thinki
have a better pe
responsibilities a

(b) It is not desirable to have Governments
managed by empirical statesmen unless
well mixed with™ others who are
grounded in learning and reflect

wisdom.

(¢) As the statesmen/bureaucrats are the
products of a society, it is desirable to
have a system of education in a society
that focuses on training its citizens in
scientific method and philosophical

thinking from a very early age.
(d)

It is desirable that all scientists need to
be philosophers as well to make their
work goal-oriented and thus purposeful

and useful to the society.
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74.

75.

Passage - 3

“The last end of the state is not to dominate
men, nor to restrain them by fear; rather it is so
to free each man from fear that he may live and
act with full security and without injury to
himself or his neighbour. The end of the state, I
repeat, is not to make rational beings into brute
beasts and machines. It is to enable their bodies
and their minds to function safely. It is to lead
men to live by, and to exercise, a free reason; that
they may not waste their strength in hatred,
anger and guile, nor act unfairly toward one
another.”

Based on the above passage, which one of the
following terms best expresses the ultimate
goal of the state ?

(a)

Personal safety

(b)«. "Health of body and mind

(e) = Communal harmony

(@) Liberty

What is the remainder if 2192 is divided by

6?

(a)-. 10
(b)iz ot
©):"-:2
d 4
Consider the sequence

ABC__ ABC_DABBCD_ABCD
that follows a certain pattern.
Which one of the following completes the

sequence ?

(a) DACB
(b) CDAB
(c0 DCCA
(d) DDCA

(41-A)
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76. AB 3T CD 2-37%hi aTeit &0 & | AB i CD

i [k

XDTG-S-DNK

¥ N A W UGS 3-3h H F&T DEF
ITH Bt 8 | DEF 1 371 3-37eh] %1 §&AT GHI
HSieT @ 975 H AT ? | AU & A, B, C, D,
E,F,GHIffmawg |aRE=0,F=38
A+ B+ C frueh sten 2 2

(a). 6
(B): 557
(¢) 8

d 9

9 ymeft P, Q, R, S 3 T % SR § fi=feifaa
FHoAl W fomr fifse, g @ wuw g § 3k
Teh U7 ITH 2 |

T FYT : PﬁtQﬁﬁ@,*@WﬁW
= | \\Q

G FIT: R aﬂzsﬁ%&-ﬁ-mw,w
¥ fore SR |

T FIT: R, SO T F AR
3, 1 & g |

frafafes & @ #SaE-Teed e o
Tehd B/l o He B 2

1. ®d % fu 980 9r yerht 99
2. SH HM & fore g ™ |

He fow T e 1 @ W wEd s g
(a) had 1

(b) HadA 2

© 1323t

d Far 1,782

78.

79.

80.

(42-A)

qF i P, Q, R, S 3 T uie = ¥, 3§

g o :

I IRPEwR @AQaRsaANaa® |

II. IRRIMSTTE, Al T 2 |

fafafgs & @ @A s feen o

gehal &/l ST Hehd & 2

1. IRTETR, AP INRA & Fu-a9
Teh T A 2 |

2. IR QUEER, A PEIR |

2 2T e e 1w = wd I ghe

(a) Had 1

(b) had 2

(¢ 1 3R 23N

@ a1,7%2

7cmx5cmx3cmﬁm3ﬁ31éﬁmai

AR T.cm X 5 cm, 5 ¢cm X 3 cm, 7 cm X 3 cm

fom13ti, aTet TryE werhl % Yol IW H A,

W AR A T @b T R | A9 39 Y W

HEH TAF 1 cm Y1 & fafim == srem &=

fou sma § | Frafofea st § @ ST g

;2

1. W i&di® 15 B ua & e fpeht ot
HAh T IS TT TE R |

2. ¥ -3 6 B uH & sk dp-diss o
gﬂm,@ﬂéaﬂt@nﬁ%ﬂﬁ,ﬁg
|

H=r fw e e @1y W wd I gh

(a) hadl 1

(b) had 2

(¢ 13 23Mi

(@ T 1,TE2

35 “INCOMPREHENSIBILITIES” % 37&r
S JUHTT % UGAH HH F @ IET 2 |
g /et f ot foufy/feufat smfefia
Tt /@ 2

(a) ﬁ'TFﬁEﬁT‘ﬁT&pf

(b) TH H

¢ q&H

(d = Hr
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76. AB and CD are 2-digit numbers. Multiplying | 73
AB with CD results in a 3-digit number DEF.
Adding DEF to another 3-digit number GHI
results in 975. Further A, B,C, D, E, F, G, H, I
are distinct digits. If E = 0, F = 8, then what is
A+B+C equalto?

(a) 6
by T
e -8
@ 9
79.

77. Consider the following statements in respect
of five candidates P, Q, R, S and T. Two
statements are true and one statement is
false.

True Statement : One of P and Q was selected
for the job. \Q’Q

False Statement : At least one Q@ and S.was
selected f@e job.

True Statement : At %vo of R,/S.and T
wer&elected for the job.

Which of the following .conclusions can be

drawn ?

1. At least four wereselected for the job.

2. S was selected for the job. -

Select the correct answer using the code given

below :

(a) 1lonly

(b) 2only

(¢0 Bothland2

(d) Neither 1 nor 2

XDTG-S-DNK (43-A)

Let P, Q, R, S and T be five statements such
that :

I. IfPis true, then both Q and S are true.
II.. IfR and S are true, then T is false.
Which of the following can be concluded ?

1. If T is true, then at least one of P and R
must be false.

2. IfQis true, then P is true.

Select the correct answer using the code given
below :

(a) 1only

(b) 2 only

(¢) Both1and2
(d) Neither 1 nor 2

A cuboid of dimensions 7 cm x 5 cm x 3 cm is
painted red,-green and blue colour on each
pair of ‘opposite faces of dimensions
7T cpNONY5 ecm x 3 em, 7 cm X 3 em
respectively. Then the cuboid is cut and
separated into various cubes each of side
length 1 cm. Which of the following
statements is/are correct ?

1. There are exactly 15 small cubes with no
paint on any face.

2. There are exactly 6 small cubes with
exactly two faces, one painted with blue
and the other with green.

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2 only

(¢c) Both1and?2
(d) Neither 1 nor 2

The letters of the word
“INCOMPREHENSIBILITIES” are arranged
alphabetically in reverse order. How many
positions of the letter/letters will remain
unchanged ?

(a) None
(b) One
(¢) Two
(d) Three
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wel & & foru sg
SPACE FOR ROUGH WORK

XDTG-S-DNK (44-A)
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=) T & foru ST
SPACE FOR ROUGH WORK
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H=! A & foT0 TR

SPACE FOR ROUGH WORK
$
N
S
S
NY
XDTG-S-DNK (46-A)
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F= HTH h 10 A
SPACE FOR ROUGH WORK
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : XDTG-S-DNK Test Booklet Series

TEST BOOKLET

GENERAL STUDIES
PAPER - II

Time Allowed : Two Hours Maximum Marks : 200

8.

9.

10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 80 items (questions). Each item is printed both in Hindi and English.

Each item comprises four responses (answers). You'will select the response which you want to mark

on the Answer Sheet. In case yo el thatithere is more than one correct response, mark the

response which you consider th @ . In any caseychoose ONLY ONE response for each item.

You have to mark all your re%ﬁises ONLY on the separate Answer Sheet provided. See directions

in the Answer Sheet. &

All items carry equal m

Before you proceed to in the*Answer Sheet the response to various items in the Test Booklet,

you have to fill in particulars in the Answer Sheet as per instructions sent to you with your

Admission Certificets:

After you have completed filling in all your responses on the Answer Sheet and the examination has

concluded, you should hand'gver to the Invigilator only the Answer Sheet. You are permitted to

take away with you the Test Booklet.

Sheets for rough work are-appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN ALL THE

QUESTIONS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for
that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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